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Quiz 1

Name

(1) 1 mi is equivalent to 1609 m so 55 mph is:

A) 15 m/s @) 66m/s D) 88m/s  (E) 1500 m/s
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(2) Suppose 4 = B"C"™, where 4 has dimensions LT, B has dimensions L*T™ and C has
dimensions LT%. Then the exponents » and m have the values:

A) 2/3;173 B) 2,3 C) 42;-1/5 E) 1/2;172
IR = ety G T

oA T -
= [ b DA
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(3) The coordinate of an object is given as a function of time by x = 41— 3¢, where x is in A= | -3
meters and ¢ is in seconds, Its average velocity over the interval from t=0to =2 s is:

A) O0m/s B) -2 m/s D) -14 m/s E) can not be computed
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